Name:

CC Geometry

2489 -1-Page 1l

Triangle Proofs Test Review

Questions 1 through 5 refer to the following:

What is the congruence correspondence, if any, that

will prove the given triangles congruent?

v NG

A) ASA C) SSS
B) SAS D) none
2)
A) HL C) AAS
B) SAS D) none
]
L]
3)
]
L]
A) ASA C) SSS
B) SAS D) none
4)
f f
A) SAS C) ASA
B) AAS D) none
” Z\\Z\
A) SAS C) SSA
B) AAS D) none

6)

7)

8)

The pair of triangles below have two
corresponding parts marked as congruent.

R T S

NN/

P Q U

What additional information is needed for an
ASA congruence correspondence.

A) PQ=TS C) RP=SU
B) RQ=TU D) ZR=/1U

In the diagram below, AABC = ADEF.

C F

A BD E

Complete the statement AB = 2.
A) DE C) cB
B) FE D) DF

In theﬂcom@yi@iagra m, ﬁ = ﬁ,
PR L RQ and SQ L RQ.

P S

R Q

Which statement can be used to prove that
APQR = ASRQ?

A) AAS = AAS C) SAS = SAS
B) HL=HL D) SSS=SSS



9) In the accompanying diagram of quadrilateral
QRST,RS = ST, SR L QR, and ST L QT.

\T/

Which method of proof may be used to prove

AQRS = AQTS?
A) ASA C) AAS
B) HL D) SAS

Questions 11 and 12 refer to the following:

Given the partial proof below.
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10) In the diagram below, APQR = ASTR.

P Q

T S

Complete the statement £Q = 2.

A) ZS C) ZTRS
B) ZPRQ D) 4T

P U Given: PQ=UT, PS=UR, QR=ST
Prove: AVRS is isosceles
/ STATEMENT REASON
Q PG T (1) PQ=UT,PS=UR, (1) Given
QR=ST
(2) RS=RS (2) Reflexive Property of Equality
(3) (3) Addition Property of Equality
(4) @S=TR (4)
(5) APQS = AUTR (5) SSS=SSS
(6) LPSQ= LURT (6) CPCTC
(7) VR=VS (7) Iftwo £s of a A are =, the sides
opposite these /s are =.
(8) AVRS is isosceles (8) An isosceles A is a A with two
= sides.
11) What could be the statement for reason number 3 in the given proof?
A) PV+VS=UV+VR C) <£PQR+ ZVRS = ZUTR + ZVSR
B) QR+RS=TS+RS D) PS-VS5=UR- VR
12)  What could be the reason for statement number 4 in the given proof?

A) Reflexive Property of Equality
B) Halves of equals are equal.
C) The whole is equal to the sum of its parts.

D) Anisosceles triangle is a triangle with two congruent legs.



13) Supply the missing reason(s) for the given proof.

F

D G E

Given: FG L DE
G is midpoint
of DE.

Prove: ADFG = AEFG

STATEMENTS

REASONS
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(1) FG L DE o
G is midpoint of DE.
(2) DG = GE

(3) .DGF and LEGF are
right angles.

(4) .DGF = /EGF
(5)FG =FG
(6) ADFG = AEFG

F
S
14) T
A
o . o)
Given: FO bisects AS
LA= /S
Prove: AFAT = AOST
P
15) Q R s
T

Given: E 1 E
TS L QS L
R is the midpoint of QS

Prove: £ZP=/T



16)
Given: P_S 1 ﬁ
PS bisects £QPR
Prove: £Q = 4R
17)

Given: T_S = ﬁ
/LP=/Q

Prove: P_S = ﬁ
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18)
Given: ﬁ = ﬁ
DA L AB
CB L AB
Prove: ﬁ = E
19)

Given: DTC = DGS

LC= /LS

Prove: S_T = E
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A
20)
D
B C
Given: E = E
BD = DC
Prove: AD bisects ZBAC
S T R
21) v
P U Q
Given: EE @
SR = PQ

ﬁ bisects ﬁ

Prove: V is the midpoint of TU



1) A
6 A

11) B

13)
14)
15)
16)
17)
18)
19)
20)

21)

2 A 3 C
7 A 8 C
12) C

Answers vary.

Answer is aASA proof.

Answer is an ASA proof.
Answer is an ASA proof.

Answer is an AA Sproof.

Answer is aproof.
Answer is aproof.
Answer is a SSS proof.

Answer is aproof.

4H A

9 B

5 B

10) D
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